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

[Solves problems involving large numbers by
applying appropriate operations (Addition, Subtraction, Multiplication and
Division)].



(Addition, Subtraction, Multiplication and Division of two Integers)



(Solves problem related to Addition, Subtraction, Multiplication and
 Division of Rational numbers)


(Interprets the Division and Multiplication of Fractions and Decimals).



 (Generalises Properties of Addition, Subtraction, Multiplication and Divi

sion of Rational numbers through Patterns)
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[Solves problems involving large numbers by apply-
ing appropriate operations (Addition, Subtraction, Multiplication and Division)].

1

1 

 1 2 5 10
      50 100 



 200

Content Code : UPM024
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puzzle

18

3

6 3

14

9 12108
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1 
2 

1 
1

16,834 12,363

*

*



= 16,834 
   = 12,363 
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 1          6      8   3          4

 1          2      3   6          3
 2          9      1   9          7

+

29,197



1   6     8       3      4 1   2     3       6      3





 6 > 2

16,834 > 12,363



16,834 
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 1          6      8   3          4

 1          2      3   6          3

         4      4   7         1

-

4,471

2 
2 

9 

1 

14 

1,080 

5,700 

12,600 

55,800 124 

1. 2001 2,31,431 2011

57,921 2011

* 5 
* 1

5

 1 

 5,700

 1 5,700 5
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1


 9

 9 

 9 1,080 




1 

 9 = 1,080 

  1 = (1,080   9) 
= 120

1 12

 1 = 5,700 

 5 = 5700+5700+5700+5700+5700

= (5,700   5) 

= 28,500

5 28,500

    12 = 120 

  1 = (120   12) 

= 10

= 10
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1. 4,800 7 

2. 25 9 40 

3. 403 

24180 

4. 12 11,980 

********
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(Addition, Subtraction, Multiplication and Division of two Integers)

1
2

1

Content Code : UPM018

10 2

6
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- 3

6

0

7

18

3

1 
2 
3 
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1 
1

 0



2 3
2+3

 0 2 
 2 3

 5
2+3 = 5

- 2 3 
- 2+3 

 0 2 -2
 -2 3

0 1 2 3 4 5 6 7

3 2 

3 

2

-3 -2 -1 0 1 2 3

1
- 2+3 = 1
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- 3 -2
 (- 3) + (-2)

 0 3 
 -3  2

-7 -6 -5 -4 -3 -2 -1 0 1 2

3 2

 -5
(-3) + (-2) = -5

2 
2 

4 2 
 4 - 2

 0 4 
 4  2

 2
4 - 2 = 2

4 -2 
 4 - (-2)

-3 -2 -1 0 1 2 3 4 5

4 

2
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4 2 0 4 
2 4 - 2 = 2

4 - (-2) 4 

2 4 - (-2) = 2
4 - 2 = 2 4 - 2   4 - (-2)

4 - (-2) = 6

(-2)
2 4 (-2) 2 4 (-2)

4 + (-2) = 4 - (-2)

4 - 2 = 2

4 - 1 = 3

4 - 0 = 4

4 - (-1) = 5

4 - (-2) = ?

 4 1

1

  4 - (-2) 4 - (-1)  5 1 

4 - (-2) = 6

-3 -2 -1 0    1    2   3   4   5   6   7   8

2 4 
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-4 -2 
(-4) - (-2) 

 0 4 - 4
 - 4 2

-7 -6 -5 -4 -3 -2 -1 0 1 2

2 

4 

 - 2 
- 4 - (-2) = - 2

1.

3 
3 

23
23 2 3 2+2+2

0 2 3

i 3 2
ii 2 4
iii 2 4

6
5
4
3
2
1

-1
-2
-3
-4
-5
-6

-1 0 1 2 3 4 5 6 7

2 2 2 
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 (-2)3
 (-2)3 -2 3

(-2)+(-2)+(-2)

  6 
2 3 =  6

  -6 
(-2)3 = - 6

  (-3) (-2)

-7 -6 -5 -4 -3 -2 -1 0 1 2

2 2 

0 2 3

(-3)   2 = -6
(-3)   1 = -3
(-3)   0 = 0
(-3)   (-1) = 3
(-3)   (-2) = ?

(-3) 1
3

   (-3)   (-2) (-3)   (-1)  3 3
(-3) (-2) =  6

4 
4 

 63
 63 6 3

0 3 6

1. - 48 12

2 
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2   4 =8

2   (-4) = - 8

3   5 = 15

3   (-5) = - 15

6   (-5) = - 30

 8   4 = 2

(-8)   2 = - 4

15   3 = 5

(-15)   3 = - 5

(-30)   6 = ?

8   2 = 4

(-8)   (-4) = 2

15   5 = 3
(-15)   (-5) = 3

(-30)   (-5) = ?

(-8)   2 = - 4
(-15)   3 = - 5

3 3 

 6 3 2 

63 =  2

-2 -1 0 1 2 3 4 5 6 7

-3, -4 
-1 

530 

5

30






)1()5(

)1()30(






5

30


6

(-30)   6 = - 5

30
30

5

6(-30)   6
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  1  6 

 3 ‘+’ 3 ‘ - ’ 

(-8) (-4) = 2
(-15) (-5) = 3

(-30)   (-5) 30
30

(-30)   (-5) = 6

6
5

1.

(i) (-70) 5  (ii) {(45  3)  (-5)}

1
-27 27

17       18       19       20       21       22       23       24       25      26       27

16       15       14       13       12       11       10        9         8        7         6

-5        -4        -3       -2       -1         0         1         2         3        4         5

-6        -7       -8       -9       -10       -11       -12     -13     -14     -15     -16

-27      -26     -25     -24      -23      -22      -21      -20     -19     -18      -17
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 ‘0’




 5

-5 -5 

7 ‘+’ -5+7=2

 -27 27

(Content Code : UPM007)

(Solves problem involv-

ing addition, subtraction of Integers.)

********
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(Solves problem related to Addition, Subtraction, Multiplication and Division of
Rational numbers)

i
ii
iii
iv
v
vi

i

ii

iii

iv q

p
p, q q   0

a b

v
3

2

vi
45

15

vii
5

4
7

5

viii
5

4

Content Code : UPM025
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(ix)

(x)
81

16

(A) 
18

4
(B)  

4

9
(c) 

9

4
(D)  

9

2

1
2
3
4

1
1

*
* 0
*

5

1

5

3

5

3

5

1




21


5

1

5

1

0 1
5

1
0

1 5 1

5

1

5

1

5

3

5

1
3

5

3


5

1
3 

5

1
3 

0 
5

1

5

1

5

1

5

3

0 1

5

1

5

2
5

3

5

4
5

5

0 1

5

1

5

2
5

3

5

4
5

5

5

1
+ 

5

3
= 

5

4
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1.

(a)    
2

5

2

1
 (b) 








4

3

4

9

5

2

20

3

5

2
+

20

3
 



5   5,  20

1,   4

 5 20 = 514

= 20

 20 20 
5

2

20

8

45

42

5

2









20

3

20

8

20

3

5

2


20

38


20

11


1.

(a)    
3

5

6

3
 (b) 






 

15

7

9

2
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2
2

4

7

4

3

4

3

4

7


4

7

4

1
7

4

7


4

1
 7

4

1
7

4

1
0 1

4

1

0 1 4 1 

7 
4

7

4

3

4

1
3

4

3


4

1
3 

4

1
3 

0 1

4

1

4

2
4

3

4

4

4

5

2

4

6
4

7
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4

7

4

3

4

7

3 

0 1

4

1

4

2
4

3

4

4
4

5

2

4

6
4

7

4

3

4

7


4

37 


4

4


1

1.

(a)
5

1

5

3
 (b) 








3

1

3

2

7

4

3

2

3

2

7

4


 7 3 

7 3 37

21
 21 

21

12

37

34

7

4







21

14

73

72

3

2






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21

14

21

12

3

2

7

4


21

1412 


21

2


21

2


1.

(a)
5

2

9

8
 (b)

2

3

14

51


3
3

4

1
3 3

4

1


 3
4

1


4

1

1

4

1

4

2
4

3

4

4

20
1 2 3

4

3
3

4

1


3
4

1







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





 

5

2
)7(  

)7(
5

2







 







 













 

1

7

5

2
)7(

5

2

15

)7()2(






5

14


24

7)3(

2

7

4

3










 

8

21




1.

(a) 







3

5

7

4
(b) 






 







 5

2

11

3

4
4

5

3

3

5

7

5
5

7



7
7

1


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21

15

5

3

5

3

21

15


5

3

3

5


5

3

21

15


3

5

21

15
 [

5

3

3

5
]

321

515






21

55


21

25


3

5

21

15


21

25


1.

(a) )1()5(  (b) )21(
)3(

7


       (c)     
25

)6(

5

)9( 




********
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(Interprets the Division and Multiplication of Fractions and Decimals).

1
2
3
4
5
6
7
8

 

/ 

Content Code : UPM020

1
(a)

(b)
2

,
2

1
,

3

5
,

7

2
,

6

5
1 ,

4

7

5

3
3
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3

?

?

6

5
1

5

3
3

4

}
}

5

48

32


24

16


12
 4

3

6
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7

,
6

1
,

2

1

9

1

8

(a) 
2

1

(b)
5

3

1

1.

2.
7

4

        A. 
7

12
                  B. 

21

4
                  C. 

21

12
                  D. 

21

8

3

2
A.

7

5
B.

3

23
10

1
C.

18

23
D.

10
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- 1

- 2

- 3

- 4

- 1

1 

 

7+7+7 37

+ =+

4

1

4

1
4

1

4

1

4

1

4

1
4

3
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4

1

4

3

4

3

4

1
3 

1.

(a)
4

15
9 (b) 12

9

5
 (c)

9

4
53

2. 200
5

2

 



4

1


4

1

4

1

4

1

4

1

4

1

4

1

4

1

4

1

4

1
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
4

1

4

1


4

1

4

1

4

1

2

1



4

1

4

1

4

1

4

1

4

1

4

1

4

1

4

1

8

1

8

1

8

1

8

1

8

1

8

1
8

1

8

1


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1. 25 
5

1

A. 5 B. 25 C. 30 D. 125

2. 75 
5

3

A. 25 B. 30 C. 70 D. 72

- 2

2 

 

2
2

1

2

1
2



2

1
2

2

1



8

1


4

1

8

1


4

1

2

1

8

1


8

1

2

1

4

1


1 1

2

1
2

1

2

1
2

1
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2

1

4
2

1
2 



1

2
2

2

1
2 

1

2

2

1

22

4

1.

A.  
8

3
6 B.   

3

2
31 C.   

4

1
23

 

7

5
3 

3
7

5



7

5

7 5

 3
7

5
 7 5 3 

7

5

7

5

-1
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7 
21 

21 5 

 1 2

21

5
3

7

5




3

1

7

5
3

7

5


3

1
3 

37

15






21

5


1.

A.  6
10

9
 B.   5

7

60
 C.   4

3

1
5 

-2

5

21
-27

5
-1

21

5
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2

1

4

1

4

1

2

1


4

1

2

1


2

1

4

1

4

1

2

1


2

1

4

1
2 

2
4

1

2

1




4
2

1

4

1

2

1


4

1
4

2

41


2

1.
10

7

15

14


2.
2

1
1

14

9

2

1

4

1
4

1

4

1
4

1

- 3

3 

0.1 0.2 
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10

2

10

1
2.01.0 

10

1

10

2

10

1

10

2

10

1
10 

2 

10

1

10

2

10

1
1.0 

10

2
2.0 

0.1
10

1
10 

1 

10

1

10

1

10

2

100 2 

10

2

10

1
2.01.0 

100

2


02.0

1. (a) 3.05.0  (b)  3.02.0 

2. 8.25 6.65 

3. 5 5 

A. 0.55         B. 5.5 C. 5.05            D. 55 
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- 4 

4 

 

8.4 2 

24.8 

1

2

1
4.824.8 

2

1
2 

2

1

10

84


10

42


2.4
2.424.8 

2

2
4.2
8.4
8

4
2

1. 525.12 

2. 10 186.50 
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12.75 0.25 

25.075.12 

1  

100

25

100

1275
25.075.12 

25

100

100

1275


25

100

100

25

25

1275


51
5125.075.12 

2

5.115.246 

5.1

15.246
5.115.246 

105.1

1015.246






15

5.2461


10

15

164.1
2461.5

15
96

90
61

60
15

1.164155.2461 

1.1645.115.246 
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1.

   (a) 4.094.32  (b)  3256.48 

2. 12.25  5 

245.0A. 45.2B. 5.24C. 245D.

3. 3.5 150.5  1 

A. 43 B. 4.3 C. 0.43 D. 50 

(Content Code : UPM008)

(Solves problems on daily life situations involving addition and subtraction of
Fraction and Decimals.)

********
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(Generalises Properties of Addition, Subtraction, Multiplication and Division of
Rational numbers through Patterns)

1

2

3 q

p
,

5

2

7

3

 

-1

a = 1, b= – 2, c = 3) 

 

2

(i) (a+b)  (ii) (a-b) (iii) a+b+c (iv) a   b  (v) ca 

,
2

1
a

3

2
b

4

1
c

q

p

3

Content Code : LPM021
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1.

(A) 2 + (3+4) = (2 + 3) +4 (B) 2  (3+4) = 23 +24

(C) 23=32 (D) 2  (3+4) = (23)4

2. a, b, c 

(A) a + b = b – a (B) a+ (b+c) = (a+b)+c

(C) ab = ba (D) a–b = b–a

3.
10

8

4

3


- 1

- 2

- 3

- 4

- 1

1 

q

p
0q




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

 a b 

a b (a + b)

3 4 
   3+4 =7, 7 

-5 -8 
 (-5)+(-8) = -5-8

         = -13, -13 

3

2

7

5


3

2
+

7

5

3

2

7

5







 

      =
21

3572 

21

1514 


,
21

1


21

1

a b (a+b) 

6 4     6-4=2,   2 

-11 -20 -11 20  = -11+20

       = 9, 9 

5

3

9

4
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9

4

5

3

9

4

5

3







 

45

4539 


45

2027 


,
45

47


45

47

a b (a-b) 

5 - 6

    5 (-6) = -30 -30 

(-4) (-5) =  20 20 

        150 = 0 0 

7

3

6

5

6

5

7

3







 








42

15

67

)5(3 





42

15

a b (ab)

62= 3, 3 

(-6) (-2)= 
2

6




= 3, 3 
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a

a b a+b

b

a b a–b

c

a b  (a   b

d

a b ba 

1

2

6

1

2

1

6

1


3

1
 3 

0 05= 0, 0  50 

 a b (ab)

1.

(a) -6, -9 (b)   
7

11
,3


(c)   
3

1
,

4

1

2.

(a)   -5, -11 (b)   
7

11
,3


(c)   
5

4
,

4

1

   3.

a b
c d
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7

2
 

8

5


7

2
 + 






 

8

5
 = 

7

2
 - 

8

5

  = 
56

7582 

  = 
56

3516 

  = 
56

19

7

2

8

5



 = 

56

2875 

= 
56

1635

   = 
56

19


7

2
 + 






 

8

5
 = 






 

8

5
+

7

2

8+3 = 11  3+8=11,   11 

 (-5)+ (-8) = -13  (-8) + (-5) = -13,  -13 

2

 2

q

p
0q
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4

32

4

3

2

1 


4

1


4

23

2

1

4

3 


4

1


2

1

4

3

4

3

2

1


5 - 0 = 5

0 - 5 = -5

        5005 

43)4(3 

7

343)4( 

7

            3)4()4(3 

a b a+b = b+a

a b abba 
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9

7


9

3

59

37

5

3

9

7







45

21


95

)7(3

9

7

5

3









45

21


 9

7

5

3

5

3

9

7 




63)9()7( 

63)7()9( 

)7()9()9()7( 

a b a b = b a

8

15

5

4

15

8

5

4


2

3


4

5

15

8

5

4

15

8


3

2


 5

4

15

8

15

8

5

4

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12

6
126 

2

1


6

12
612 

2

612126 

a b abba 

i

a b a + b = b + a 

ii

a b abba 

iii

a b abba 

iv

a b abba 

1.

(a) -3, -6 (b)   -15, 15 (c)   
5

3
,

4

1

2.

(a) 4, -7 (b)   -5, -9 (c)   ,
3

5
 1
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 - 3

 - 3

q

p
0q

   cbacba 

4

1
,

5

4
,

3

2 

4

1

5

4

3

2







 


4

1

5

4

3

2







 

4

1

15

1210





4

1

15

2





60

158


60

7








 







 



20

516

3

2

4

1

5

4

3

2

20

11

3

2 


60

3340


60

7








 








 


4

1

5

4

3

2

4

1

5

4

3

2
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3, 4, 5 

  57543 

12
  93543 

12
  )54(3543 

a, b c

(a+b) + c = a + (b+c)

5

2
,

2

1
,

4

3


5

2

2

1

4

3

5

2

2

1

4

3







 






















 

5

2

4

23





5

2

4

5


20

825


20

33








 
























5

2

2

1

4

3

5

2

2

1

4

3







 


10

45

4

3









10

1

4

3

10

1

4

3


20

215


20

17

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













































5

2

2

1

4

3

5

2

2

1

4

3

3, 4, - 5 

51)5()43( 

4

 )54(3)5(43 

93

6

 )5(43)5()43( 

a, b c )()( cbacba 

6

5
,

4

3 
2

1

2

1

24

15

2

1

6

5

4

3




 







224

1)15(






48

15


16

5

























26

1)5(

4

3

2

1

6

5

4

3

12

5

4

3 


124

)5(3






48

15


16

5

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





 








 


2

1

6

5

4

3

2

1

6

5

4

3

–3, –2, 4

   464)2(3 

24
   )8()3(42)3( 

24
     42)3(4)2(3 

a, b c

(ab)c = a  (bc).

3

2
,

5

4
,

4

3 







 






 






 






 

3

2

4

5

4

3

3

2

5

4

4

3







 

3

2

16

15

2

3

16

15




32

45




32

45





























2

3

5

4

4

3

3

2

5

4

4

3

10

12

4

3


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12

10

4

3 


48

30

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a

a, b c (a + b)+c = a+(b + c) 

b

a, b c )()( cbacba 

c

a, b c )()( cbacba 

d

a, b c )()( cbacba 

 - 4

 - 4

a, b c 

)()()( cbbacba 















 






 






 

3

2

4

3

4

3

3

2

5

4

4

3

6, -3, 2

   2)2(236 

1

  
2

3
6236




3

2
6




4

     236236 

a, b  c )()( cbacba 
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
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
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

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



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





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







 








6

5

3

2

4

3

3

2

6

5

4

3

3

2

3, 4, 5

93)54(3 

27

15125343 

27
)53()43()54(3 

a, b, c

)()()( cabacba 
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)()()( cabacba 

[ i a, b, c )()()( cabacba 

ii a, b, c )()()( cabacba 

 

********

1.

3

2
,

4

3


6

5

2.

(a) )
5

3

3

2
(

4

3
 (b) 

11

5

6

5

11

6

6

5


   3. 
4

1

5

3
)

7

5

4

1
(

5

3

5

3


a
5

3
b

7

5
c

7

5
d

4
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

(Solves problem
related to conversion of percentage to fraction and decimal and vice-versa).



Represents daily life situation in the form of a simple equation and
solves it.


(Solve problems using first degree equations with one variable.)



(Solves problems based on Direct and Inverse Proportion)



(Applies the concept of percentage in Profit & Loss, Discount and amount
of C.I.)
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(Solves problem related to con-
version of percentage to fraction and decimal and vice-versa).

1
2
3
4
5

Content Code : UPM 005

1

2 200 

5

2

3

i
8

3
6 ii

4

1

2

1
 iii 11

5

2
4 

4

3.75,     580.24,    42,    .05
5 2/3 
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- 1
- 2 
- 3 
- 4 

- 1

1
 5-6 

10 10 =100 

 (i) 100 
        20 

100 
       20  20% 

(i)

1. 3:4 

A. 
4

6
B. 

8

3
C. 

8

6
D. 

6

8

2. 2
8

3
 

A. 0.2375 B. 2.375 C. 23.75 D. 237.5
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
100 20 5 1

5

1

100

20


20% = 
5

1

- 2 

- 2

 100
10 10 

100 
 100 50 

 (ii)
20 

20
100 5

(ii)
1 2 3 4 5

1. 90%

A. 9 B. 
100

9
C. 

10

9
D. 90

2. 0.034

A. 
1000

34
B. 

100

34
C. 

10

34
D. 34
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

100 50 
100

50
50%

50 100 0.5 
100 %

50 % = 0.50

%

30% 

30%
10

3
 

10

3
   = 0.3

30% = 0.3.

30%

71%

100

30

10

3 0.3

0.71

- 3 
- 3 

 2/3

-4    -3    - 2       - 1            0  1     2       3          4
 

1. 5 210 5 

A. 525 B. 5.25 C. 52.50 D. 105 

100

71
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 0 1 7 

     10 7 0.7

10 7 = 
10

7

-4    -3    - 2       -1            0     0.7  1     2       3          4
 

}

 0 1 10

-4    -3    - 2        -1           0             1    2       3         4
 

0.4 0.2 

5

2

5

1

0.7 
10

7

0.7 =
10

7

4 
- 4 

 2/3 10  10 
100 

1. 2400 2000 

A. 400% B. 40% C. 200% D. 20%
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104.0
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4.0
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 100 5 20

5

4

 100 80

100

80

(i)

}
}
}
}
}

(ii)

5

4

100

80

100

80

100

80
= 80%

5

4
= 80%

%35
100

35

520

57
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7







100 
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5%

= 2 

 =  
40
2

 40 2

  = %100
40
2 

  %100
4

2

  %
10

2

  = 5%

1. 40 16 

A. 16% B. 40% C. 
5

2
% D. 

2

5
%

2. 800 952 

A. 152% B. 
152

8
% C. 19% D. 1216%

3. 5 25 

A. 5% B. 25% C. 30% D. 125%

40 

********
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Represents daily life situation in the form of a simple equation and solves it.

1

2

3

4

a + b = b+ a

a   b = b   a

a    (b + c) =  a   b + a    c 

1. 

2. 

3. 
4x+5y,  x2+x+3,  py+x+z,  4+z

Content Code : UPM 002

4. 
a 5 
b 3 

c 4

5. 

49    99
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-1 
-2 
-3 

-1 
-1 





x 5
45



= 

 x+5= 45

x     y      z        4      2       3     5

+  _     
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- 2 

- 2


1 

 2 

 3 


 =



1. 

(a) y 5 20 

(b) 11 z 3 120 

(c) x 5 3 7 

(d) p 2 6 72 
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2x + 5=  x + 8 3.

   ‘2x + 5 = x + 8’ 

2x+5 x+8
x =1 21+5

=2+5
=7

1+8
=9

x =2 22+5
=4+5
=9

2 + 8
=10

x =3 23+5
= 6 + 5
=11

3 + 8
=11

1. 

(a) y + 9 = 2y + 4 (b) x -12= 3x - 18


1



2x + 3 = 7 

x = 1 = 2   1+3 =7
= 2 +3
=5

 
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- 3 

- 3 
 2




3x +4 = x +16  

     3x + 4 = x + 16

  3x -x + 4 = x - x +16   x 

  2x + 4 = 16

  2x + 4 - 4=16 - 4  4 

  2x = 12


2

12

2

2


x
 2

  x = 6

 3x +4 = x +16  6

x = 2 = 2   2+3 =7
= 4 + 3
= 7

     = 

   2

1. 

(a) 4y + 4=120 (b) 50x - 20=130 (c) 9x + 3 -12 =0
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Content Code : UPM006

x 3 2 (x+3) Uses variable with
different operations to generalise a given situation Eg. perimeter of a rectangle
with sides x units and 3 unites is 2(x + 3) units.

*******

1. 9 21 
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(Solve problems using first degree equations with one variable.)

1.

2.

3.

1.

x + 3, 2z,  4a +
2

9
 ,  5t + 2... 

2.

(a) 7 x 

(b)  y 

3.

x + 4 = 110

4 110 

Centent Code : UPM 004
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1

2

3

4

1

1





i

ii

z + 5, 2x + y

4p + 3, 3y+z

ax + b, ax + by + c

1. 

A. x 5 B. y 3 4 

2. 
4a + 6

3. 10 30 

A.  
10

y
B. y + 10 = 30 C.  y – 10 = 30 D. 10y = 30
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

1 1 

1 

2

2



 (1) (x × 1)

(1 × 1) 



(+x) (–x)

(+1) (–1)

 2x + 5 = 7 2 2

5 7 

1

x

x

1  1  

1 

1. 

4x+x2,          3x+ax+9, 2z +m+z2

x+b, 3y+p, 11y+13
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2

3

 (3) (2) 5 

=

=

=

4

 3

 (+1) (–1) -4

(4)

(5)
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=

5

=
x 1

 (5)

2

  2x + 5 = 7 x = 1 





(1)

x (1)

2

x
x

(1)



= +1

= –1

(2)

(3)


2

x
– 3 = 1 1 3 

1 (3)



(+1) 

(–1) (2) 

+1)

–1)

=
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 -4(a) (3)

- 4(a)

=

- 4(b)

=

 (–1) (+1) 4(b)

=

 -1

2

x
+ 

2

x
 = 8

            x = 8

(6)

 (5)

(5)

=

 (5)

4
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3 13
2


x

-4(b) 3133
2


x

5 4
2


x

6

44
22


xx

x = 8

=

=

=

=

2

x
– 3 = 1 x = 8

3

3




d

c

b

a
 ad = bc 

D

C

B

A


AD = BC A, B, C, D 

1.   2
4

a
a 

A. –8 B. 8 C. 6 D. –6

2.  4x–6 = 8+ 2x
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
D

C

B

A


7

3

3

43





x

x

 7 (3x– 4) = 3 (x+3)

 21x– 28 = 3x + 9

 2



4

 4

2

2

  1. 280 

 2 

*******
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 (Solves problems based on Direct and Inverse Proportion)

1
2

1

20
100
1

Content Code : UPM 023

3
30
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2

1 
2 

1
2

1
1



1 2

 10
 10 2 10 

x

y

2       3       4        5      6        7       8        9

10     15     20     25     30      35       ?      45


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10

 2   =10

 1 = (102) 
       = 5

8
1   = 5
8 = 85 

= 40

yx :

45

9

40

8

35

7

30

6

25

5

20

4

15

3

10

2


y

x

x y
x y ‘5’

100 

 5 
= 1:5

5

1


5

1


5

100


20

100
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1 2

2 
2

10 

20

1. x y 

A) x
1
 x

2
 = y

1
 y

2     
      B) 

2

1

2

1

y

y

x

x
  C) 

1

2

2

1

y

y

x

x
   

                
D) 1x  22 xy 

x

y

10     20         30          50

90     45          ?             ?
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30 50



y
x

1


 yx

10)( x

90)( y

 9010 yx

900
20)( x

45)( y

 4520 yx

900

30x

900 yx

90030  y

30

900
 y

30

(x) 30 30 
x=50

900 yx

90050  y

50

900
 y

18

(x) 50 18 

1
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1. 

A) B) 

2. 10 5 10 

3.

********
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/

1 200
320

2 300
450

3 700
642

Content Code : UPM 001

(Applies the concept of
percentage in Profit & Loss, Discount and amount of C.I.)

1
2

/

1 
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10 000

1
2
3

2 

P  R  T
S.I. =

             100

3% 5% 
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1 
1 

 10/12 10

 8 8

     1 = 10

 8 = 80

8  80


12 8 

8

  8 80 

8

 1 = 12

 8 = 12  8

    =  96

8 =  96

8 = 80

8 =  96
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20%

12
11

–

= 96 – 80

=  16

16

 =

        %100
18

16


        %
8

160


        = 20%

1.

                          

2400            ?           400 

                                                      
   ?           5900                     490 

                                                
4100          ?                           300 

%100
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1499 50%

= 1499
100

50


2

1499


= 749.50 

749.50 

749.50 

= (1499 _ 749.50) 

= 749.50 

30%

 1499

50% discount 50 50% 

2
2 

 50% discount , 50% discount

1. 1499 1250 
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3

3




i 10% 10,000 
12,100 

ii 2021 30,000 
2%

iii 75,000 5%



(P) = 10,000 

(R) = 10%

         (T) = 1 

100

TRP 


100

1101000 


1000

2

= 10,000  +1000 

= 11000

11000 10%

 100

TRP 


100

1101100 


= 1100 
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

  (P) =500

(R) = 10%

(T) = 3 

= 11000 + 1100

= 12100

12100

1 
2 
3 

(P) = 500
(R) = 10 %

(T)  = 1 

100

TRP 


100

110500 


 = 50

1 
= 500  + 50 
= 550

100

TRP 


100

110550 


= 55
2 
= 550  + 55 
= 605

100

TRP 


100

110605 


10

605


= 60.50
3 
= 605  + 60.50 
= 665.50
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3 = 665.50


n
R

PA 





 

100
1

3

100

10
1500 






 







 

10

11

10

11

10

11
500

10

1111115 


10

6655


= 665.50



1

6
543

2

A = ?

A = ?

A = ?

A = ? A = ? A = ?

6 

1.  800 2% 3 

2.  1000 10 2 

1000 10% 6

1000

  
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

Find out the perimeter and area of rectangular objects in the surroundings like
floor of the classroom, surfaces of a chalkbox etc.



(Find the area of a Polygon)


(Finds surface area and volume of cuboidal and cylindrical object)
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Find out the perimeter and area of rectangular objects in

the surroundings like floor of the classroom, surfaces of a chalkbox etc.

1.

2.

 

- 1

D

A

C

B

S
R H

QP E F

G
OP

M N

Content Code : UPM017
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2







900

A, B, C, D

AB = BC = A=........, B=........

CD = DA = C=........, D=........

AB = BC = A=........, B=........

CD = DA = C=........, D=........

AB = BC = A=........, B=........

CD = DA = C=........, D=........

1.  

a

b 1900 

c 5 7 

D C

BA

D C

BA

D C

BA
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‘‘

1

2

1

1

= 27 

= 20 

= + + +

=  27 + 20 + 27 + 20

= (2   27)+ (2 20) 

= 2 ( 27+20) 

= 2   47 

= 94 

94
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= 2 + 

= 14 

= 6

 = 2 ( + )

= 2 (14 + 6) 

= 2   20 

= 40 

= 185

= 32

 = 2 ( + )

= 2 (185 + 32) 

= 2   217 

= 434 

1. 6 4 

           (A) 24      (B) 20           (C) 10           (D) 5 

2. 3 
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5 3 

15

15

2

2 

=     

1. 600 20 

2. 

= 15

= 5 

= 3

   = 5    3 

= 15

 =  

     = 15
3 

5 
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(Find the area of a Polygon)

1

2

3

Content Code : UPM016

1.  

(A) 2 (B)  3 (c) 4 (D) 5

2.

(A) + (B)  2 + (c) 2  (D) 




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=

2 
2 

A B

C

D

E

1
2

1 
1 
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

ABCDE = ABE BCE CDE

ABCDE ABE BCE CDE

)(
2

1

2

1

2

1
DGECBHECAFEB 






 






 







 






 






  321 2

1

2

1

2

1
hEChEChEB

)...(
2

1
321 hEChEChEB 

ABCDE 
1

A B

C

D

E

C

A B

D

E G

F

H


2

1


EB
EC 

AF, BH
DG 

AF=h
1
, BH=h

2
DG=h

3
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    ABCDE )...(
2

1
321 hEChEChEB 

ABCDE = ABDE + BCD

(ii)

E

F

A

B

C

D

ABCDEF = ABF + BCEF + CDE

(i)
B

C

DE

A E

F

A
B

C

D

C

B

A H

G

F

D E

ABCDEFGH = ABGH +BCFG +CDEF

(iii)

D

C

B

A H

G

F

E

(i)

B

C

D
E

A
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2.

(A) 8cm2  (B)  10cm2 (c) 16cm2  (D) 30cm2

3.

(A) 24cm2 (B)  32cm2 (c) 48cm2          (D) 54cm2

3cm

5cm

2cm

8cm

6cm

10cm

1. 40 12 

(Content Code : UPM010)

(Calculate areas of region enclosed in a Quadrilateral, Triangle etc.)

**********
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Content Code : UPM016

2

1

(Finds surface area and volume of cuboidal and cylindrical object)

1

2

3

4
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1

2

3

4

5

1.  
a

b 1900 

c 5 7 

2.  4 3 

3

(A) 1 2 (B) 7 2 (C) 22 2 (D) 
7

44
 2

4

1L, 500,ml, 250 ml 
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1

- 1

2

2







6

A

A

D

D

C

C D

B A

B

H

E

G

F

6

AEHD, EFGH, FBAE, HGCD, FBCG ABCD.

ABCD EFGH.

Âó± ÇîÂù äÂ±¿1àò AEHD, FBAE, HGCD, FBCG

4

A

A

D

D

C

C D

B A

B

H

E

G

F

1

2 6

5

3

6

A

E

H

F

G

C

B

D
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= l

= b

A

A

D

D

C

C D

B A

B

H

E

G

F

l

h

b











=   

AEHD =  bh

EFGH =  lb

FBAE =  lh

HGCD =  lh

FBCG =  bh

ABCD =  lb

 = 6

= bh + lb +lh +lh +bh +lb

=  2lb+2bh + 2lh

= 2(lb +bh+lh)

= 2(lb +bh+lh)



16 8 6

l  = 16

(b)  = 8 

 (h)  = 6 

 = h
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= 2(lb +bh+lh)

= 2(16 8 + 8  6 + 16   6) 

= 2(128 + 48 + 96) 

= 2 272 

= 544 

544 

1. 12 , 10  8  

(A) 284 2 (B) 592 2   (C) 352 2 (D) 567  2

2. 30 40 50 20

20

3

- 3

a

b



1. 

2. 
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

= 

= 

=  

r2  h r h

 rh2

=  +

22 rr   r 

22 r

= +

     222 rrh  

     )(2 hrr  

)(2 hrr  



(i) 

(ii) 

h

2 r
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7 15 

 (r) =  7 
 (h) =  15 

)(2 hrr  

)157(7
7

22
2 

227
7

22
2 

= 2   22   22

= 968

968 

1. 14 88 

(A) 88 (B) 44 (C) 2 (D) 1 

4

- 4 



(Space) 



5

5

5

5
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= 5 + 5 + 5

= 15

= 5 + 5

=  10 

    = 5

      1 =  1

=    

= 5   5   5

= 5   5   5

= 125

6 = 6   125

= 750

 = 6 

= 750

l = 15

b = 10

h = 5



   = 15   10   5

= 750

=    

= l   b   h

5 5 5

5

5

5

l   b   h

12 8 6 ..........

9 7 12 ...........
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1. 7 4 3 

(A) 122 3 (B) 84 3     (C) 61 3 (D) 28  3

2. 2 0.5 2 

       (A) 2 (B) 20 ( C) 200  (D) 2000 

5

- 5 

 1 



r
2r

= 1 

= h 

= 
2r   h
2r h r

   h 

2r h



114

h r

15 14 .......... ..........

20 ...... 0.7 ..........

1. 88 4 

(A) 352 3 (B) 616 3           (C) 1584 3      (D) 2464  3

**********
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

Describes geometrical ideas like line, line segments, open and closed
figures, angle, triangle, quadrilateral, circle etc. with the help of examples in
surroundings.)



(Understand congruence criterion and can apply them in sum or problem
solving.)



(Solve problems related to angles of a quadrilateral using property.)
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Describes geometrical ideas like line, line seg-
ments, open and closed figures, angle, triangle, quadrilateral, circle etc. with the
help of examples in surroundings.)

1.

2.

3.

1 

Centent Code : UPM 012

i

ii
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A B

2 

3 

ÎüëÂ×æÃÏûþ±
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1

2

3

4

5

6

1

1

A B
A B

AB





B

A

A

B
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2 
2 

A B
AB 

A B

A B

1.  

2. 

A

C D

B
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1

2

i) 1

ii) 2

1.  

2.  

~~ ~~~ ~

 
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1.  

i)  BOC 

ii)  AOB 

iii)  BOC 

OA OB O OA OB
 AOB 

AOB O,

AOB OA OB

P AOB Q AOB

O A

B

A

C
B

ED

F

O

. .



 

-3 
3

O A

B

PQ
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4
4 

 3





i ABC AB BC CA
ii ABC 

ABC ABC 

i
ii
iii

1.  LMN

i)  

ii)  

iii)M 

iii)  LM NL

L

M N

A

B C
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5

5 






ABCD  
ABCD 

i AB BC CD DA

A

B
C

D

ii A, B, C D.
iii ABC,BCD,CDA DAB

A

B C

D Q

S

P

R

B

A.

.

ABCD A C B
D AC BD 

PQRS
A B
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6

6 


O

A



O
A 

OA 

A B  A
B  AB

O

B

A
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PQ
PQ 

O
QP

1.  O 

i)  

ii)  

iii) B

O

A
P

Q
M

N
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Content Code : UPMO15

(Apply congurence in sum or problem solving.)

1
2.

1

5 

-2
4 

-3 
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1
2
3
4
5

1
1









 



ABC PQR ABC  PQR 
ABC  QPR 

A

B C

P

Q R
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1.

2
2







 ABC, DEF PQR 

AB= DE = PQ,   BC = EF = QR  B = E = Q





ABC, DEF PQR 

ABC   DEF   PQR

A

B C

D

E F

P

Q R
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- 3
 3

1 2

PQR ABC
P = A,    Q = B PQ = ABAB

PQR  ABC

4
4











ABC DEF
B = E = 900

 AC = DF
BC = EF 
ABC DEF
ABC  DEF

A

B C
900

D

E F
900

P

Q R

A

B C
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A-A-A







5
5

1 ABC PQR A = 700, Q = 300,
 P = ?
B = ?

ABC  PQR
A = 700  Q = 300

A = P
B = Q
P = 700

B = 300

1.

(A)     (B)      (c)    (D) 

700

A

B C
300

P

Q R
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2 PQR   STU PQ = ST, QR = TU, Q = T

1. ABCD AC BD

(A) ABC  ABD
(B) ABC  BCD
(C) BDC  ABD

(D) ACB  BCD

2. ACB  DEF,,

3. ABC A=300 B=800 AB=5cm PQR R=300 Q=800

QR=5cm. ABC  PQR

4. DEF  PQR

?DE       E =?      ?DF 

?EF 

A B

D C

F

P

Q R

S

T U

D

E

R

Q P3cm

5cm
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Content Code : UPM014

A

B C



C
A

B

1800

1800

(Solve problems related to angles of a quadrilateral using property.)

1
2
3

 

1 

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2 



Flow chart

3 

(i)

(ii)

EF

E

B

D

F

C

A
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(iii) 2 1
3 4

6 5
7 8

1
2
3

1

1.

2. x 

D C

A B

50

70 x
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1800

=



1
21

22
1



1 2
3

3600

3600

A
B

C
D

3

A

B

C

D

1

A

B

C

D

2


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2 
2 



i
ii



4 
3600 

3600

A

B C

1
2

3

A

B
C

2

3

1

A

B
C

2

3

1

1.

(A) 900 (B)  1200       (c) 1800      (D) 3600

2. ABCD A = 4x + 300 x 

2
1

3 4
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3600

3600 

A

D

C

B

4

1

2

3

1
2

3
4

2
1

A

D
C

B

4

1

2

3

3
4

3
3

i
ii

1.

2. x

(A) 1800 (B)  1200

(c) 600 (D) x + 1200

x

1200

A B

D
C
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ABCD 
AB   DC, AD 
 A + D = 1800

1800

A D

AB   DC, BC 
  B + C =1800

B C

AD   BC, AB 
  A + B = 1800

AD   BC, CD
  C + D = 1800

1800

1 ABCD
2 A, B C, D 

A B C D

A + B = 1800 C + D = 1800

ABCD 1800

D C

BA

D

A B

C

A B A D

1 2 3
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CD

A B

1. ABCD AC BD 

a = 37o ABC = 120o b

************

AB   DC, ADAD
 A + D = 1800

AB   DC, BC
 B + C = 1800

ABCD 1800

a

A B

CD

b

2. 3 : 4 : 5 : 6 
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

Arranges given/collected informations such as expenditure on different items
in a family in the last six months, in the form of Table, Pictograph and Bar
Graph and interprets them.



(Interprets data using Bar graph and also find a representative value of data. i.e.
Mean, Mode and Median of ungrouped data)



(Draws and interprets Bar diagram, Class width and Pie chart.)
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Arranges given/collected informa-
tions such as expenditure on different items in a family in the last six months, in the form
of Table, Pictograph and Bar Graph and interprets them.



 

1



 4





 3/4

Content Code : UPM027
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

i

ii

iii

iv

v

vi

 

-1

-2
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-1

-1

  =1000 

12  = 12,000 3,000, 6000, 4000, 2000 

















(i)

(ii) 

(iii)

(iv)

12,000

3,000

6,000

4,000

2,000
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-2

2

6,000

12,000

8,000

4,000

3,000

3,000

1,000

1. 5 

35 60 75 85



















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

1 = 1000 1 

1000, 2000, 3000... 



13000

12000

11000

10000

9000

8000

7000

6000

5000

4000

3000

2000

1000

0



6000

8000

4000

3000

12000

3000

1000







i

1 = 1000 

X

Y
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ii

iii

iv

v



(i)

(ii)

100
80
60
40
20
0





 1 = 20 

80

100

20
40

1.

3

 4/5

Survey





1

2

3

4

5
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

(i)

(ii)

(iii)

30




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(Interprets data
using Bar graph and also find a representative value of data. i.e. Mean, Mode and Median of

ungrouped data)

1.

2.

2

18, 15, 19 15, 

10 16 12, 18, 15 

1

Content Code : UPM028
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1

-1

 20 

3

5 

         20 kg,     25 kg,    30 kg,    27 kg,     22 kg

1

2

3

4

5

A 4

B 5
D 3
M 6
R 2

= 20
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T-20 

120,  162, 200, 135, 110 45, 30, 25, 10, 37, 48, 16, 21, 06, 36

Y

X

6

5

4

3

2

1

0

4

3

6

5

2

D MA B R







2

2













  M

   R

  D 

   3 

1 = 1



151





3

3

11, 12,  12, 12, 13



 10 

 13 


= 11 + 12 + 12 + 12 + 13
= 60
= 5

=

= 
5

60

= 12
12

1.   5, 3, 2, 4, 1

       (A) 1      (B) 2        (C) 3   (D) 4
2.  5

15, 18, 19, 20, 12
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1 8

2 9

3 4

4 5

5 4

= 30 

4

4 


5 2 3 

1


2, 2, 2, 2, 3, 3, 4, 5, 6, 4, 5, 4, 6, 4, 6.

 1 5



 30

1, 2, 1, 1, 2, 3, 4, 2, 1, 3, 1, 2, 5, 4, 4, 2, 5, 1, 4, 1, 5, 2, 2, 3, 5, 4, 2, 3, 1, 2.









153

5

5



35, 32, 35, 42, 34, 32, 38



32, 32, 34, 35, 35, 38, 42



35 





2. 2

1. 
 (i) 10, 5, 7, 9, 8, 8, 4, 3, 2, 8, 2

(ii)   15, 0, 10, 2, 15, 4, 3

1.        11, 2, 10, 2, 8, 7, 6, 9, 2 


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(Draw and interprets Bar diagram, Class width and Pie chart.)

1 Ð

Content Code : UPM009

i

ii

1.
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1
2 
3 

1
1 

2019

2020

2021

2022

2023

250

330

300

280

450







x y


x
y

x 5

y 1 = 50 
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X

Y

450

400

350

300

250

200

150

100

50

O 2019 2020 2021 2022 2023




500
1 = 50



(a)

(b)

(c) 300 

1. 

(i) 

(ii) 



250

330
300

280

450
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8-10

10-12

12-14

14-16

3

7

7

3

20 =




8-10, 10-12, 12-14, 14-16 

2 

2 

20

11, 13, 10, 11, 12, 14, 9, 10, 11, 12

13, 14, 10, 13, 8, 12, 10, 9, 12, 15











 8-10,  10-12,   12-14,    14-16 

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



8 –10 8 10.



8-10

= 10 – 8

= 2

2





1. 

48, 39, 36, 40, 39, 44, 26, 30, 16, 11, 9, 49,
23, 35,  22, 41, 27, 38, 45, 29, 41, 37, 27, 13

2.

(i) 

(ii) 0-10 

(iii) 20-30 

0-10

10-20

20-30

11

  3

10

24=
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(ii) 0360
24

6


=  900

(iii) 0360
24

6


=  900



 3600 24 

(i) = 24 7

  =

= 0360
24

7


      =  0105

7 

6 

6 

1 

4 

= 24 

3 
3 

24 

3600
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A ‘O’

‘OA’ 1050

‘OB’ 900

‘OC’ 900

‘OD’ 150

AOE 600

(iv) 0360
24

1


=  150

(v) 0360
24

4


=  600





A
O

15
0

A O

B

C

D

900

900

E

1050

A
O

B

C

D

1050

900

900

A
O

B

C

1050

900

A
O

B

1050

60
0
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1.

 
 

  50

  20

100

  30

Content Code : UPM004) :

(Draws and interprets Bar diagram and Pie chart.)
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